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Fourth year Civil Eng.

_ Alexandriz University
Faculty of Engineering

Irrigation Engineering and Hydraulics Dept. % Design of Irrigation Structures 11

Regulators & Barrages
Sheet No. (2}

A reinforeed concrete control regulator is to be constructed across a main canal at
km 2.00. The longitudinal section of the canal is shown in the given figure. The
bridge width over the regulator is 12.0 m and it has two sidewalks of 1:50 m width for
each. The maximum allowable he@ding up through the regulator is 10 cm for case of
fully opened gates. The width of each pier is 0.8 m and the span of each vent is §om.
US breKen & DS slopi ’U wig 19 vells are used.

1t is required to: .

. Give the complete hydraulic design of the regulator,
2. Find the required floor dimensions according to scour and percolation

(CB=12),
% Give the complete design of the reqmred steel sliding gate = b (US e 3 MG. )
4. Draw neat sketches showing the following: 5 2 KE.
i. Plan (HER)
ii. Longitudinal section through the regulator
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